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Q53-cont

2. The plot on 4he previous page shows how the

maejnﬁud% of +he G%S'*Cm output chanaes with

respect 4o the -Frectmencg of the input 4o the ggstem

when the input 1 o complex sine wave. This 18

also known as the moquitude response of the

Stds.t«t:m.
Question 54
TR ’ Nzt |
x{t)= e i* : 252“'t Y sm.gfﬁgq 0 4erms j
') ! ! QI3
w= - ws=2 ws= 242
.k 9% it |
U&,L‘t) = J Zﬁj + 3 e\s
1:4(5) _| An(3) 2] n(3) ¥ 242

s =




- 4,“.,-7'/(£7:{-‘,,, DI

~ Question 55 - -
- ‘ 2 oo, CY-ATy
521) X)= )— ay ¢ ST ST g, IR
‘: = K
e e o9 3, L _Q_zz,é.
= %JFZZ'%C’JAT *Zazfﬂr
TKES
) _

) s re/l//um/

s fpepen v

; "_W:EQuestion 56




e

‘,

s I ) Y e

— —— — e,
— oo rce— e

 __£»/+ p=te2 0'//) vdf o 9=2-2t ,Jg=-2Jt

€= }0- B st Z+ O/{ - ,,O/Z

—

. i,

= 3"// Pedk( i JK@/,@JQ@@ MH)Z JK (= )012’)

mﬁfgmﬁm | éy pm’s’ fff_]j_f S

/OJ/( J},op/a _'0//0 e 7

o 0[‘/_ cf,_ #/4(5“4/0 —

e [ e g ey
[ [t = m ”’3’2dgﬁlf.ﬁffjf_jfjfjj_’,'jfﬁfff;"jff_,u -

I A A JK(%”? _ ' ~J/<(-§) 1 JK(‘:/)/O
K "'[31‘3 ] [ JRCr) € _..*__,.J?K‘“(ﬁt?é) C _7

e [ e e (o4 ]
fifji;;ff L (o0 ) T ;gii;:z*"9‘?{‘:**‘???;)1:‘;i:fjj;i;:;fjt;i:f' -

A,’_“; — / . e ..,,:3 JA( /,/, = ,,Aé.w J/<L 3} _1— ’ .
B S R Tl T < & A B

i et (R e AP N
A =% ( 7‘58“)-46%(/)) ff K20

Km0, a =gl tnat [l nen)

U v Judu

[ <k %] jk(’V)Z . dk(’i’)z]
¢ Jx(ws) J/((r/sj

‘\§)
+




b

o 4 "f,,

é ( L/ ) f( /- )) - R

P

Ay

R e e e R

X = 30 a e
Ko |

=2

*f‘mm2@¥4m»

- R K (er) o
Ak = ;(ffdf

- -/ (%Je J"@‘f

= /<2;¢) )




’ ;Question 57

g @, ek (D

_—r .’Z,’( fl e dt = e ”’é) ________________

- , e —— L o -vK(t )'é‘ - A _é ,.;.A,_/(.n(,%m)éﬁz ——
, Q( T Z [ J/‘< A7 e o _Z2 o - A [ (/7( (277)6 J B ._,,.;//.....ﬁ.--.A.___WA.A._,._,..._,_._.“, M_

_ O, o e T e LT
é[ K2 fd kzv’@J“"_, ] [ ,/dr' c ,A’Z:r fJ ’él‘}] —

s m—[ ST ST IT ] o

a=e [ cos(k E) - aw “*)] yéf (o

5/ XY M
k= o K=0\
iy [@ﬁ(kr) fff’f(/( ’z'm)] Af ’ﬁf’ N o

| x4 = Z Tt

e —
L7 277 F St ff"f' : 3 B

e ‘ ’l_ é - _—J/( é N JK"EE e ——
Y k- KT €5 d'“ ar €7

fH:

"f@s,




k= gE[2-FF -] kre

e =3 xWd = f(20) =1

fQuestion 58

=/

= g o ST A

O = I =]

_ - — -[—( /{-/IfK) T T
23 - = [ //—;17'& e /., : '

N ,_l,v(%/zz‘/(,_,,.. S 2+; 2K

Ce — e [

— — e — e

— ST TS YT i - / JTK Y LY
- ~_L/,7/»“‘,.[1__,_@___._ * I € f = ““/ g /

e & = st fsnlrk) = 1)
i o= cos( TH + J_y,n( “Tk) [/)"

ﬂ i[

7—,‘,—~,‘___/__——,—\_—‘__~~____..

i g,ﬁ Fi2mK [(/ ((f‘ )] 4#)

L=o |

X(t) =;<§,« Au. é‘jﬂé




SR ) st “) S s T0ke 3 I
QL’-« = i’y [/7(/_ [ EJ ) +\/TT‘(/+£) fJ 7

B "J J'Jf,(/‘,f) e (/7/‘(/*;) 6 — JV(’ ’93 7r(l+4’4-g)

T ——
§4L: ) 3[77(/ K}[/ Fmr(/é)] 7"7r(/+z [/ ~ éj]]

~

XO=2a T




Loyl dy= F Ly A

j«!_y =/ [x,(mu%)j FEEE

g FLAOS T LRIV

Ok e thoe ke g od Oge e e
B E?qr,é’f Sep,‘eg Coe@p(n?rs 7LS Of «Kl (H G'wi Xz&j /‘ff/@/‘/é’é/,;_ .

Questlon 60

+

) = § [k—-ﬁ F S [/«’fj’j S oy = Z( | gerz

(0, ¢#*

x@ End® o I plend

/ X ({) = D cos (377* v 5 - e L
1) = s o yso —




" 3)




